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- sample 50%

- Path pagerank 26%

- Path outdegree 16%

- Path indegree 26%

- Path eigenvector 5%

- Path betweenness 6%

- Node4 pagerank 50%

- Node4 outdegree 50%

- Node4 indegree 50%

- Node4 eigenvector 50%

- Node4 betweenness 36%
- Node3 pagerank 50%

- Node3 outdegree 50%

- Node3 indegree 50%

- Node3 eigenvector 47%

- Node3 betweenness 36%
- Node2 pagerank 50%

- Node2 outdegree 47%

- Node2 indegree 50%

- Node2 eigenvector 50%
- Node2 betweenness 33%
- Nodel pagerank 50%

- Nodel outdegree 50%

- Nodel indegree 50%

- Nodel eigenvector 50%
- Nodel betweenness 36%
- 33%

graph



